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Question No.1: The major cause of global warming is:
(E‘fhuman activities (b} animal activities
(c) social activities (d) plant activities

Question No.3: Every country in the world can improve its balance

of trade for economic progress by:
@ reducing imports (b) Increasing imports

(c) industrialization (d) agriculture production
Question No.5: The Muslims advised not to join the Congress by:

(b) Quaid e Azam Muhammad Ali
Jinnah

(d) Sir Agha Khan

(a) Allama Muhammad Igbal

{ET;SEr Syed Ahmed Khan

Question No.7 : In history, an ideal period of Hindu-Muslim unity
was during:

MHhilafat Movement
(d) Silk Handkerchief Movement

(a) Swadeshi Movement

(c) Civil Disobedient Movement
Question No.9: Muslim League emerged as sole representative
party of the Muslims after the:

(a) Communal Award ) Re-organization of Party

(c) Round Table Conferences (d) Lacknow Pact

Question No.2: The main cause of rapid urbanization is:
jndustrializatinn

{
(c) Availability of Electricity

(b) Clean environment
(d) Housing socities

Question No.4: Global demand and information technology
syinns can improve the:

{

{c) bilateral trade

marketing system (b) international trade

(d) domestic trade
Question No.6: The purpose of Swadeshi movement was to:

(@¢boycott British products (b) migration from India

(c) massacre of Muslims \d) revolt against the British
Empire

Question No.8: All India National Congress attended the Round
Table Conferences:

(a) second and third (b) first and second

{c) first and third +{@) only second

Question No.10 : Crips Mission arrived in Indiain:
{3;1942 CE (b) 1940 CE

(c) 1944 CE (d) 1939 CE \
i |
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Question No.1: The major cause of global warming is:

{éﬂihuman activities (b) animal activities

(c) social activities (d) plant activities

Question No.3 : Every country in the world can improve its balance
nyde for economic progress by:

(&) reducing imports (b) increasing imports

(c) industrialization (d) agriculture production

Question No.5: The most important demand of the National
Congress was to introduce in India:

a) Centralized Government

@) #H{British parliamentary system
System

(c) Monarchy system (d) Presidential system

Question No.7 : In history, an ideal period of Hindu-Muslim unity

{B}’éﬂilafat Movement

(d) Silk Handkerchief Movement

was during:

(a) Swadeshi Movement
(c) Civil Disobedient Movement

Question No.9 : The main purpose of Pirpur Committee was:

(a) Analyse the reasons of Muslim (b} Reorganization ot Muslim

League Defeat League

(c) Create political awareness {g) Summarize the Congress

among the Muslims Ministries anti Muslim acts

Question No.2: The main cause of rapid urbanization is:

Industrialization (b) Clean environment

(c) Availability of Electricity (d) Housing socities
Question No.4 : Pakistan can improve balance of payment by:
(a) decreasing exports iof decreasing imports

(c) foreign loans (d] circular debts

Question No.6: In 1911, the British King George-V announced the:

(a) partition of Bengal {@freuniﬁcation of Bengal

(c) separate electorate (d) independence of India

Question No.8: It was settled in Poona Pact that Untouchables
would be recognized as part of the:

(b) Parsi Nation
(d] Sikh Nation

{alMuslim Nation
1@# Hindu Nation

Question No.10 : "Provinces were free to either join Indian or to

form their own union" was the proposal given in the:

(b) Cabinet Mission
(d) Wavell Plan

(a) Simon Commission
l.ﬁ.’] Cripps Mission
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Question No.1: The main cause of air pollution is:
(b) land sliding
(Ef'greenhnuse effect (d) flood

Question No.3: The World Trade Organization (WTO) sets rules and
regulations between member countries for:

(a) earth quakes

+& goods transportation (b) domestic trade

(c) exchange commission (d) business unions

Question No.5: The most important demand of the National
Congress was to introduce in India:

a) Centralized Government
e {b/British parliamentary system
System

(c) Monarchy system (d) Presidential system

Question No.7 : As a result of World War I, Ottoman Empire was
divided among:

(a) France, Greece and Germany (b} British, Greece and Russia
(c) Italy, Russia and British ) British , Greece and France

Question No.9: Syed Taqi Hadi Nagvi and Syed Ashraf Ahmed were
member of:

(b) Redcliffe Award Committee

{Hfgi’;;:'ﬁepﬂrt Committee

(a) Nehru Committee

(c) Constitutional Report
Committee

Question No.2: The main cause of rapid urbanization is:

(@4 Industrialization (b) Clean environment

(c] Availability of Electricity (d) Housing socities
Question No.4: Pakistan can improve balance of payment by:

(a) decreasing exports ] decreasing imports

(c) foreign loans (d] circular debts

Question No.6: The purpose of Swadeshi movement was to:

(ay’boycott British products (b) migration from India

(c) massacre of Muslims (d) revolt against the British
Empire

Question No.8 : It was settled in Poona Pact that Untouchables
would be recognized as part of the:

(b) Parsi Nation
(d) Sikh Nation

(a) Muslim Nation
{cﬁ""lli[iﬂdu Nation

Question No.10 : "Provinces were free to either join Indian or to

form their own union" was the proposal given in the:

(b) Cabinet Mission
(d) Wavell Plan

(a) Simon Commission

) Cripps Mission
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Question No.1: The major cause of global warming is:

(&Yhuman activities (b) animal activities

(c}) social activities (d) plant activities

Question No.3: Every country in the world can improve its balance

of trade for economic progress by:

rd

“d) reducing imports (b) Increasing imports

(c) industrialization (d) agriculture production
Question No.5: The Muslims advised not to join the Congress by:

(b) Quaid e Azam Muhammad Ali
Jinnah

(d) Sir Agha Khan

(a) Allama Muhammad Igbal

(c?)/Sir Syed Ahmed Khan

Question No.7:
was during:

In history, an ideal period of Hindu-Muslim unity

wﬂ(hllafat Movement

d) Silk Handkerchief Movement

(a) Swadeshi Movement
(¢} Civil Disobedient Movement

Question No.9 : Muslim League emerged as sole representative
party of the Muslims after the:

{e‘f/ﬁe-erganizetien of Party
(d) Lacknow Pact

(a) Communal Award

(c}) Round Table Conferences

Question No.2: Rapid increase in population of big cities is due to:

{'efestablishment of incdustries (b) unemployement

(c) Inflation (d) lawlessness

Question No.4: Global demand and information technology
solutions can improve the:

{a{marketing system (b) international trade

{c) bilateral trade (d] domestic trade

Question No.6: Bengal was partitioned in 1905 CE on:

(alAdministrative basis (b) Political basis

(c) Economic basis (d) Religious basis

Question No.8: In 1932, after Round Table Conferences Gandhi and
Ambedkar signed a Pact:

&Lﬁ] Poona Pact

{d] Lausanne Pact

(a) Lucknow Pact
{c) Tashkent

Question No.10 : Main reason behind the arrival of Crips Mission

was:

: , (by to achieve Hindu-Mus! i,

(a) to give freedom to India ﬁ
consensus .
(d] financial constraint

(c) protests in India
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Question No.1: The major cause of global warming is:
(#human activities (b) animal activities

(c) social activities (d) plant activities

Question No.2: Rapidincrease in population of big cities is due
Pestablishment of industries
C)

(b) unemployement

Inflation (d) lawlessness

regulations between member countries for:

@goods transportation
(c) exchange commission

(b) domestic trade

(d) business unions -

Question No.5: First and formost demand of the Congress was to
introduce in the subcontinent:

@British Parliamentary system  (b) Russian Monarchy System

(c) Saudi Majlis-e-Shoora system  (d) American Presidential system

Question No.7: In 1922, Gandhi ended Non-Cooperation
Movement because of:

(a) Jallianwala Bagh incident
(c) Shaheed Gunj Masjid incident

(b) Kanpur Masjid incident
Chauri Chaura incident
Question No.9 : The main purpose of Pirpur Committee was:

(a) Analyse the reasons of Muslim
League Defeat

(b) Reorganization of Muslim
League

(c) Create political awareness
among the Muslims

@Summarizethe Congress
Ministries anti Muslim acts

@Administrative basis

(b) Increase in imports

(d) Increase in GDP

(a) Export of raw material

@ Increase in exports

Question No.6 : Bengal was partitioned in 1905 CE on:
(b) Political basis

'¢) Economic basis (d) Religious basis

Question No.8 : All India National Congress attended the Round
Table Conferences:

(a) second and third (b) first and second

(c) first and third @ only second

Question No0.10 : Crips Mission arrived in India in:

(a) 1942 CE (b) 1940 CE \
(c) 1944 CE (d) 1939 CE ﬁu*
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Question No.1: The main cause of air pollution is: Question No.2: An element that attract people to move towards

(a) earth quakes (b) land sliding developed areas is the:
@greenhouse effect d) flood (@) urbanization (b) quality food
(c) healthy environment ,@better quality of life
Question No.3: Every country in the world can improve its balance  Question No.4: Pakistan can increase foreign exchange by:
of trade for economic progress by: (a) Export of raw material (b) Increase in imports
Q) reducing imports b) increasing imports /@ﬂncrease in exports (d) Increase in GDP
(c) industrialization 'd) agriculture production
Question No.5 : All high posts in British India should be filled by Question No.6 : In 1892, first of all partition of Bengal was
competitive examinations, it was demanded by: proposed by:
(a) British (b) Sikhs (a) Guverner of Bengal (b) Viceroy
@ Congress (d) Muslim League @ ChiittagonEEBmmissicner {i}f:tfif Depty

Question No.7 : In history, an ideal period of Hindu-Muslim unity Question No.8: The reason behind the Gandhi's Civil Disobedience

was during: Movement was:
(a) Swadeshi Movement @ Khilafat Movement (a) Muslim League's victory in @ Rejection of dominion status
(c) Civil Disobedient Movement  (d) Silk Handkerchief Movement election demand

(;;:::llm league rejected Nehru (d) Start of World War I
Question No.9: Syed Taqi Hadi Naqvi and Syed Ashraf Ahmed were  Question No.10: The Cripps Mission came into India to obtain
member of: Hindu-Muslim consensus on the:
(a) Nehru Committee 'b) Redcliffe Award Committee @ltznnstitutinnal arrangments (b) World War I

c) Constitutional Report ¢) social reforms d) economic reforms _
(c) g épirpurﬂeport Committee { L () SUBSCRIBE
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Question No.1: Depletion of the ozone layer is the cause of : Question No.2: An element that attract people to move towards

(a) Liver cancer (b) Blood cancer developed areas is the:
@Skin cancer (d) Kidney cancer (a) urbanization (b) quality food
(c) healthy environment @-bctter quality of life
Question No.3: Every country in the world can improve its balance  Question No.4 : Pakistan mostly imports:
of trade for economic progress by: (a) food items (b) cotton products
@educing imports (b) increasing imports _ raw material and
: — . . (c) sports items ,
(c) industrialization |d) agriculture production manufacturing goods
Question No.5: The most important demand of the National Question No.6: The purpose of Swadeshi movement was to:
Congress was to introduce in India: @bnycntt British products (b) migration from India
(a) Centralized Government - : ; (d) revolt against the British
British parl t t ; &
System /@ ritsh partlamentary system (c) massacre of Muslims Eigie
(c) Monarchy system (d) Presidential system -
Question No.7: The Migration Movement badly failed due to: Question No.8: It was settled in Poona Pact that Untouchables
(a) non-cooperation of Hindu (b) non-cooperation of British would be recognized as part of the:
leaders authorities (a) Muslim Nation (b) Parsi Nation
G} non-cooperation of Afghan (d) non-cooperation of Muslim @ Hindu Nation (d) Sikh Nation
authorities leaders
Question No.9: The main purpose of Pirpur Committee was: Question No.10: Main reason behind the arrival of Crips Mission
(a) Analyse the reasons of Muslim  (b) Reorganization of Muslim was:
League Defeat League @ to achieve Hindu-Muslim

, (a) to give freedom to India
(c) Create political awareness @/Summarlze the Congress consensus

| o N o | @3 SUBSCRIBE
among the Muslims Ministries anti Muslim acts (c) protestsinIndia (d) financial constraints



Question No.1: The main cause of air pollution is:
(b) land sliding
(d) flood

(a) earth quakes
OJ greenhouse effect

Question No.3 : Authority that ensure rules set by (WTO) for
improvement and standardization of trade's goods in Pakistan is:

(b) Securities & Exchange

State Bank of Pakistan (SBP
(a) State Bank of Pakistan (SBP) Commission of Pakistan (SECP)

(d) Federation of Pakistan
Chambers of Commerce & Industry

(FPCCI)

Question No.5: All high posts in British India should be filled by
competitive examinations, it was demanded by:

(a) British (b) Sikhs
@} Congress (d) Muslim League

Question No.7 : The Migration Movement badly failed due to:

@Trade Development Authority
of Pakistan (TDAP)

(b) non-cooperation of British
authorities

(a) non-cooperation of Hindu
leaders

(d) non-cooperation of Muslim
leaders

non-cooperation of Afghan
authorities

Question No.9: Muslim League emerged as sole representative
party of the Muslims after the:

@] Re-organization of Party

(d) Lacknow Pact

(a) Communal Award

(c) Round Table Conferences

Question No.2: An element that attract people to move towards
developed areas is the:

(b) quality food

@bctter quality of life
Question No.4: Pakistan mostly imports:

(a) urbanization

(c) healthy environment

(b) catton products

@raw material and

manufacturing goods
— e—

(a) food items

(c) sports items

Question 0.6 : In 1911, the British King George-V announced the:
(a) partition of Bengal @reunificatiun of Bengal

{c) separate electorate (d) independence of India

- =
Question No.8 : In 1932, after Round Table Conferences Gandhi and
Ambedkar signed a Pact:
@} Poona Pact

(d) Lausanne Pact

(a) Lucknow Pact
(c) Tashkent

Question No.10: The Cripps Mission came into India to obtain
Hindu-Muslim consensus on the:

@ constitutional arrangments (b} World War I

(c) social reforms (d) economic reforms
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(b) animal activities

yftion No.1: The major cause of global warmingis:

a) human activities
(c) social activities (d) plant activities
Question No.3: Exchange of goods and services between the

courtries for money is called: -
—‘-(—tfﬁra de

(d) saving

(a) barter
(c) inflation
Question No.5: First and formost demand of the Congress was to
introduce in the subcontinent:
.(a) British Parliamentary system  (b) Russian Monarchy System

(c) Saudi Majlis-e-Shoora system  (d) American Presidential system

Question No.7:
was during:

In history, an ideal period of Hindu-Muslim unity

'{ﬁ) Khilafat Movement
(d) Silk Handkerchief Movement

(a) Swadeshi Movement
(c) Civil Disobedient Movement
Question No.9: The main purpose of Pirpur Committee was:

(a) Analyse the reasons of Muslim  (b) Reorganization of Muslim

League Defeat League
(c) Create political awareness .g) Summarize the Congress

among the Muslims Ministries anti Muslim acts

a7 establishment of industries

Que/uon No.2 : Rapidincrease in population of big cities is due to:

(b) unemployement

(c) Inflation (d) lawlessness

Question No.4: Global demand and information technology
solutions canimprove the:

a) marketing system (b) international trade

(c) bilateral trade (d) domestic trade

Question No.6: In 1892, first of all partition of Bengal was
proposed by:

(b) Viceroy

(d) Chittagong Depty
commissioner

(a) Governerof Bengal
.(c) Chittagong Commissioner

Question No.8 : All India National Congress attended the Round
Table Conferences:

(b) first and second

442] only second

(a) second and third
(c) first and third
Question No.10: Main reason behind the arrival of Crips Mission

was: /;ﬁ
b)t hi Hindu-Musl|

(a) to give freedom to India ) to achieve Hindu- USWB@
consensus

l’ SUBSCRIBE
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Question No.1: The result of ozone holeis:
@ slobal warming (b) acid rain

(c) greenhouse effect (d) toxicity of water

Question No.3: Every country in the world can improve its balance
of trade for economic progress by:
@ reducing imports (b) increasing imports
(c) industrialization (d) agriculture production
Question No.5: The Muslims advised not to join the Congress by:
(b) Quaid e Azam Muhammad Ali
Jinnah

@ Sir Syed Ahmed Khan (d) Sir Agha Khan

Question No.7 : In history, an ideal period of Hindu-Muslim unity
was during:

(a) Allama Muhammad Igbal

®) Khilafat Movement
(d) Silk Handkerchief Movement

(a)} Swadeshi Movement

(c) Civil Disobedient Movement

Question No.9: The main purpose of Pirpur Committee was:

(b) Reorganization of Muslim
League

(a) Analyse the reasons of Muslim
League Defeat

i@ Summarize the Congress
Ministries anti Muslim acts

(c) Create political awareness
among the Muslims

Question No.2: The sequence of steps of industrial system is:
(a) output-input-process (b) input-output-process
(c) proces-input-output @) input-process-output

Question No.4 : Pakistan can increase foreign exchange by:

(b) Increase in imports

(d) Increase in GDP

(a) Export of raw material

@ Increase in exports

Question No.6 : The purpose of Swadeshi movement was to:

@ boycott British products (b) migration from India

() i ssAETEal Mutkilivis (d) revolt against the British
Empire

Question No.8 : The reason behind the Gandhi's Civil Disobedience

Movement was:

(@ Rejection of dominion status
demand

(a) Muslim League's victory in
election

(c) Muslim league rejected Nehru
Report

Question No.10 : Main reason behind the arrival of Crips Mission

(d) Start of World War I

was:
(@ to achieve Hindu-Muslim

(a) to give freedom to India
CONSEnsuUs

{c) protests in India (d] financial constraints
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